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Ruumide eksplikatsioon
I # I Ruumi nimetus Pindala
Rendipind 01
11 Laopind 306,0
1/2 Kontor 86,3
1/3 wC 3,0
395,3 m?
Rendipind 02
21 Laopind 108,5
2/2 Kontor 32,6
2/3 wcC 2,8
143,9 m?
Rendipind 03
31 Laopind 198,4
3/2 Kontor 51,2
3/3 wC 2,7
252,3 m?
Rendipind 04
4/1 Laopind 108,5
4/2 Kontor 32,6
4/3 wC 2,8
143,9 m?
Rendipind 05
5/1 Laopind 198,4
5/2 Kontor 51,2
5/3 wcC 2,7
252,3 m?
Rendipind 06
6/1 Laopind 108,5
6/2 Kontor 32,5
6/3 wcC 2,8
143,8 m?
Rendipind 07
7 Laopind 203,9
7/2 Kontor 32,6
7/3 wC 2,7
239,2 m?
Rendipind 08
8/1 Laopind 111,3
8/2 Kontor 36,0
8/3 wC 2,8
150,1 m?
Rendipind 09
9/1 Laopind 198,4
9/2 Kontor 51,2
9/3 wcC 2,7
252,3 m?
Rendipind 10
10/1  |Laopind 108,5
10/2  |Kontor 32,6
10/3 |WC 2,8
143,9 m?
Rendipind 11
11/1 Laopind 198,4
11/2  |Kontor 51,2
113 |WC 2,7
252,3 m?
Rendipind 12
12/1 Laopind 116,3
12/2 | Kontor 35,2
12/3 |WC 3,0
154,5 m?
Rendipind 13
[13/1 | Laopind 72,1 |
72,1 m?
Rendipind 14
|14/1 | Laopind 73,0 |
73,0 m?
Rendipind 15
[15/1 | Laopind 73,0 |
73,0 m?
Rendipind 16
|16/1 | Laopind 73,0 |
73,0 m?
Rendipind 17
[17/1 | Laopind 73,0 |
73,0 m?
Rendipind 18
[18/1 | Laopind 73,0 |
73,0 m?
Rendipind 19
[19/1 | Laopind 73,0 |
73,0 m?
Rendipind 20
|20/1 | Laopind 73,0 |
73,0 m?
Rendipind 21
|21/1 [ Laopind 73,0 |
73,0 m?
Rendipind 22
|22/1 [ Laopind 73,0 |
73,0 m?
Rendipind 23
[23/1 | Laopind 73,0 |
73,0 m?
Rendipind 24
|24/1 | Laopind 78,5 |
78,5 m?
Rendipind 25
[25/1 | Laopind 72,4 |
72,4 m?
Rendipind 26
|26/1 | Laopind 73,0 |
73,0 m?
Rendipind 27
|27/1 | Laopind 73,0 |
73,0 m?
Rendipind 28
|28/1 | Laopind 73,0 |
73,0 m?
Rendipind 29
[29/1 | Laopind 73,0 |
73,0 m?
Rendipind 30
[30/1 | Laopind 73,0 |
73,0 m?
Rendipind 31
[31/1 | Laopind 78,2 |
78,2 m?
Tehnopind
| | Gaasikatlamaja | 11,9 I
11,9 m?
Uldkasutatav pind
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 16,8
Trepikoda 221
206,9 m?
| | 4138,8 m?
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